Si Code: I 2_1_0] AL
SECONDARY SCHOOL EXAMINATION - 2018 (ANN

MATHEMAT'CS BiharPaper.com
nfora

et gfa gt A FET 1L

7 vl ¥) wem 78 pages:
Total No. of Questions: 76 Totat No. of Printed P29 )

‘ '. ' m
(g 3 T2 15 14e) Mn-“* ﬂ;ﬂl
[Time: 3 Hrs. 15 Minutes] d_____l_hf‘f, —_—
gfenfifat # 2 Ad—

Ingtruchions for ihe canodie.
1 aded® gy qwd W T & O e 2y
Candiimtes i (eQured 1 (ive [heir AMswers in thew own
2 TN v T T A gV ¥ L M St &1
Figures w1 the notl R3N M incheaie ludt inaris. i
3 due &l ?nf;o;:‘.fnr.'! T Ted- - vy & 18 V5 BiharPaper.com
Wiz answormg the queshions, candidat showd adiiedd to the word bt a5 far as praclicable.
Dege o Wb it (3 B0 £

oVt WO T T ATl W AT L
15 Minutes of exira hme s been at f1eo tor the canghlates 1o read he questions carehaly.
‘e wes - (T -4/

5 aw ged-Gi T eivgl
rac sachans — Sechon - A and Secten € o .
3F fere &) §TE

6 a. .w#saarzgﬁmm.? ol mmt srhad 21 (GAFE & 1
S w7 4 oMR - e 7 14 wd g @) drad G Tt TR
mmv}mﬁa?/mwd/#s/wwﬁwmm#mmwi

werar aden GRwra g T
in Section - A ihero are 50 objective lype questions which are compuisory, 8ach caryng 1 mark.
nst the correct opbon on OMR Sthieet prowaedd lo you.

Darken Ine circle with blue black bak pen against
Do not use Whitener.Liquid BiadoNail on OMR Paper, otherwise the resull will be invalid.
7  gvg - §F 22 FF CIT g #¢ (wdm @ B 2 Fa BRI 2) a3 el 15

prat 7 T d W £
TP MINVKL FV ST HA &t gedn Tea 0 w2 & (v B LT 5 HT PR #4)
geidis g £ vy TS (4o o ¥ 4 0T av e 1y T 8
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BiharPaper.com w@vs ~ai / SECTION=-A
g / Objective Ty uest

L ron Yo (Me2 wrgm) w2 gl fag SafiA FXe & -

AA) U qats. wn (B) (& WEfrE {7
(C) TF aidtdpy wieg (D) TF e woar
Every point on 3 numbcr line represents -
(A) areal number (B) a natural number
(C)  arationyl number (1) un irrational number
2. Praffaa @ @ wre—m frer oA TN die 22
11 9N
A e @ 300
) . M (M) o @ 2 A
2! »57 x73
Which of the following numbers has terminating decimal expansion?
Ay L 3 i
} 200 (B) 5100 BiharPaper.com
(Cy - 343 __ (D) None of these
27 3573

LFY)

AN NG =i T @ 16, 20, AT 24 wAE  Mon ©aEd -

The least number, which is perfect square and is divisible by cach 16, 20, and 24 is-
AA)Y 240 (B) 1600

(Cy 2400 (D) 3600

4. T TN o YA IS T g meads T 14 T € FHAY AT
(LCM) oo sieem srratss (MCK) 30 oifg 00 8| @ ©o Wi 280 &, 4 Fad "o
£t -

The LONM of two numbers is 14 times their HCF. The sum of LCM and HCFE is 600, If
onc of the number is 280 then the other number is -

(A) 40 (B) RO

(C) 120 (DY 20

BiharPaper.com
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Ween 2343 a E # %y Y (e p.q TiE & g+ 0) wwe fm o w

2343 can be cxpiessed in the form of e (. q are integers. § »0)-
0

M 5 B 00

2343 2320
. f.;--:-. D"_ ————
(€} s ( 99

afd f(x)= 2¢7 + 65 -6 TUE o f 2, @ -

If a.f are the zeros of f{x)=2x"+6x = 6. then -

(A) a+p=cf B a+f>ab

(C) a+f<ofp >y a+p+rap=0

Yrw afEo i x+2y =35 W 3x +#12y =10 ¥ =

(A) T BA 8 (B P ed e

(©) s D s T@ Em (D) e agaadl 7@ et
The puir of linear cquations x+2y=5 und Ix +12y =10 has-

(A) umyue solution (B) no solution |
(C) mowe than one solution (D) infinitely many solution

Preriafad A A 7 ague T8 87 BiharPaper.com
Which of (he following is not a polynomial?

(A) 24l (B) 2-x2 ¢ ix

(C) | o x
x-1

afr 0.3x =037 =0.37x-03, @ x T 7 g -

If 0.3x - 0.37=0.37x~03, then x has the value -
(A) -] Br -2

(C) +1 (D) +2

BiharPaper.com
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10, 6x*y aoy 12xy &1 wgem s - BiharPaper.com
The HC.E, of 6x'yand 12xy -
(A) 6x%y (B) 6x
(C) ey (D) 6xy

e 734197y 2 149 e 197x +173y =221, & (x,y) 87—
U 173x 4197y <149 and 197x +173y =221, then (x. .'r’) willl be
(A) 3,.2 8y 2.1
© a2 D (2,-1)

12. 2R fywrp TNT ax? _g4x + 22 +;=ﬂ o g A A

If the quadrmic equation ax® - dax + 2a + 1 = 0 has repeited (equal) Foots, a = ......

(A) 0 ® 1

. BiharPaper.com
(C) 2 (n 4

13. 64 i}.“::rrf‘ngqﬁmg*;uﬂa A W &Y @1 A BT -
The square root of 64 divided hy the cube root of 64 is -

(A) 64 (B) 2
© Y D) (64)%

M. (*+DF @ e (x+ D & off - |
(A) n T garas yois &) AB) n ok fava gquis &
(C) n W& vners o ) (D) n @ T iE B
(x+1) is a factor of (x" + D, only if -
(A) nis a positive integer (B) nisan odd integer
(C) nis anegative integer (D) nisaneven integer

15. \fg_nx\:'ig @R ¢ -

J10 % VIS s equal to - BiharPaper.com

-
«(A) SVE B) 65
AT (D) V25

Paga 4 of 18
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16. B V31an0=135in0 o sin’@—cos'0 TAR & —

If 3tanB= 35in @ , then 5in? 8 —cos® @ is equal to -
(A) V3 (B) 2
3 BiharPaper.com
1
L © 3 (D) "!'
V<

17. afg 7!5“104‘3“&319!4 T gecH + cosecd TUW B ~
If 7sin* @+ 3c0s? B =4, then ssco+cosectd Is cqual to -

2 2
(A) -2 o e 2
V3 - ® ' 5H
2 3
C haliiy
() B (D) >
55in®-3cox 0
18. R Sco18=3 wa ppraY-yAp—s ey
If Scot®=3. the Ssin@-3cos8 | 11o-
T 2C0t0U =3, lhen 35in 0+ 3cos0 IS equa
A = ¢ (B) 3
14 BiharPaper.com ¢y !
(C) 27 ) %

19. X sinx®=sina @ a & -

If sinx®=sina, then & is -

180 =
_ 70 =~
(C) -—-aw D) 1

20. tan15°-tan20°-tan 70°-1an75° w1 A Bim-
The value of tan 15°- tan 20° tan 70° - tan75° -
(A) -1 (B) 2

©) 0 O
BlharPaper.com
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2L X e @ fren an Fow 4509 R 6F g 8, ¥ 89
AN ) A o Harg (et A) & -
If the inclination of Sun's ray increase from !
tower decrease by 50m. Height of the tower (in m)is ©

§° 1o &F, the

A 736-3) @ 250+43)
© 10003 3-1 \
003 +1) o su\3 ) § Ged) 9042 B -

22 @ Wy gy, Rl o0 WS w7 oEn S QU

" 2 vl [ al to
The angle of elevation of the Sun, when length of shadow of a vertical pule 18 egus

its heighy is .

(A) 2 X
2 (B) 3

) X y B

. 4 BiharPaper.com ( 6

23. UE 6 A T an) A ot ' orn 243 der ad 2 it g AT G 6_l
A 6m height pule’s shadow on the carth is 23 m long. then the Sun's clevation s -
» (A) 600 (B) 45°

© 3 (D) 15° .
24, Wsﬁ'ﬁzﬂﬁ'&qma&m4ﬁﬂwmammwnwﬂaﬂmuiﬁuiﬁa?t.:ﬂ

T B Fard (Mew M) & -
A tree of 6m height casts a 4m long shadow. At the sume time a flag post casls a

shadow SO m long. The height of the post (in m.) is -

(A 40 ;) 25
) 15 (D) 10
25, uR Q) AR Jurd h, ®rhy # 0 T AFad @ 3 - o’ BRI g @
h,

AR A B BT AR Fan 60° on 30° & a I-l_ aude g —

b4
.

If two towers of hlﬁght hj and llz stibtend angll? 60%nd 3° a1 the “|idp“'““ of linc

joining their bascy of towers, then % is -
*(A) 3:1 (B 1:2
* r.
© lel D) v2:1 BiharPaper.com
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26. WA I A x=~) T y-.qa A PR A TR -
(A) UB—THY & ey &
(B) Y&-THY & warerae @
AC) W g B wAR & A Faaq 2
(DY =% Frurd 48 avm o g
The lines X = ~land y= .4 are -
(A) perpendicular w each ather
(B) parallel to cach ather
(C) neither parallel nor perpendicular to each other
(D) Nothing can be said

27. fw Brga & &1 O & R (0, 4), ©.0) @ (3, 0) & ITTA Rfafy 2-

BiharPaper.com

{A) 8o (B) 10 507§ BiharPaper.com
_(C©) 12y (D) 15 SaT¢

The perimeter of a triangle with vertices (0. 4), (0. O) and (3, M is -

(A) 8Unit (B) 10 Unit

(C) 12Unit (D) 15 Unit

28, Pramia (2. K-3) @ (4,-7) B wied ach @0 @ g@R 3 Mk E A #rm-

- . All
The slope of the line joining the points (2, K-3) and (4.-Tyis 3. The value of K w1t
be
(A) =10 (B) -6
(C) -2 (D 10

29, wYH W& x=-280 y =3 & TR fag @-
The lincs X = -2 and y = 3 intersects at poinis-

(A) (-2.3) (B) Q.-
€) 3,-2) D) 32D
30. TR YT 5x -3y +10=0 w1 3 B T T fr[s ®1 S3FA -
15, o 5

y(A) '%:W (By § A

(C) 8 I (DY 15 ¥

The area of the triangle formed by line 5x -3y +10 = 0 with co-ordinute axis will be-
(A) gcmz BiharPaper.com (B} Scm’

() 8cm’ | (D) 15¢m?
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31. fyg 2 1
# i
M BD=CD, CE= AE. ZBAD = ZCAD; ZEBC= ZEBA T
Lon Nin #2
! S
" 1 figwe if B < oD, k= AE. ZBAD = ZCAD: ZEBC = ZEBA then which
of :
the following statemen iy true?
A
BiharPaper.com L
B D c
(A -
('IC.'I B=BCaAC (B) AB=BC
) ABzAC (D) BC#2AC
32‘ L ' - #‘ I s

f23 o f- ,
Inth ® fra PQUBC, AP=230 PB =6 PQ = 3 9 & BC (7 ?) =
n .

¢ figure PQ | BC. AP =2cm, PB = 6cm, PQ = 3 cm then BC (in cm)=

BiharPaper.com

(A) §
© 10 . (B) 9.
33. AABC o ADEF ¥ .
THET B, A T AR T 9 v 16 wt IR R Af EF = 4.2
W A BC (O H) =
AABC "VADEF _ Area of AABC and ADEFare 9 and 16 sq. ¢m respectively. If
EF=4.2cm then BC (incm) =
(A) 4.2 (B) 315
(C) 4.7 (D) 5.15
34, U wd v w drea (Puiftn ww) 4 K & anowmm & ot K Ead D
‘!:o determine a straight line, atleast K points are required. Then K is equal to-
(A 4 (By 3
) 2 BiharPaper.com (D) 1
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35, M MR8 DEY e, Ap =296 DB =33 3 AE=1690. 7@ EC

37.

38.

39.

(@A A} =

I'“ the figurc. I)‘H ] I‘“:. AD= 2:"‘. DB =3 cm 3ﬂd AE = l -6 em [hen EC'iﬂ Cm}‘

A
D £ BiharPaper.com
B _
A) L. C _
:c: ﬁ; | (B) 24
~ (D) 48

At 4:24 pm, how many degrees has the hour hand of a clock moved from its position
at noon?

(A) 135° (B 134°

(Cy 133 (Dy 132°

Fidht Bopd & 0 a= (Smg) & Bren fag =1 w@ TR -

(A) & 4 (B) gl B=

() Wy B (D) g

The point of concurrency of three wititudes of a triangle is called its-

(A incentre (B) circum-centre

()Y centroid (D) ortho centre

nfs @y ga qa,-qgaaffm%q&t,mzﬁqaﬂwwzﬁmmmmaﬁ
He e— BiharPaper.com

If twao circles touch each other externally. then the number of common tangent o the

circle 15-

Y ' (B) 2
(C) 3 Dy 4
PQRS UH TR U qefean ga @ foar @, OF TE B e & 21
(A) fawaam agqa 3
. (C) T (D) Wi T

inscribed in a circle then it Is not a-
(B) square
(D) apezium  BiharPaper.com

If PQRS is u parallelogram
(A} rhombus
(C) rectangle

[210] Page 90t 16 [Turn over



0. B s 4 pORS ©w W g & o O # A g A Thew R & m

41,

43.

ZRPS =

' ; : inscribed in a circle with center O,
In the given figure, PQRS is a cyclic quadriliteral inscribed in a circle with 0

then .
<RPS= BiharPaper.com

~ (A 300 (B) 05°

1y 700 (N Bo°

RO A& fym B I A 0@ 20 M. FAE a1 A B TH YT AIFA AW AT g
SENTY P A R -

The rativ of the ttal surface arca to the lateral surface arca of a cylinder with base
Tadius 80 ¢m ang| height 20cm is -

Ay 1:2 (B) 2:1

) 3: ADy S§:1

'&ﬁ'ﬂwﬂqiﬁ:mw%ﬁmma@umznamnams:méanarwiﬁm
2:3, A T amem a1 I -

The radij of the base of a cyhnder and & cone are in the ratio 3 : 4 and their heights arc
in the ratio 2 ; 3, then their ratio of volumes is - BiharPaper.com

AA) 9:8 (B) 9:4

€y 3:) (D) 27:64

T& UA @1 s 2044 3 &1 gura g w39 B g

The volume of a cube is 2744 ¢m*, Its surface area (incm?) jx «

(A} 196 (B) 588

(C) 784 (M 1176

8N & IR e A Ay A Pom & M 2w WA =M @ v B-
How many balls. cach of rudius 1em can be made from 1 solid sphere of feud of
radius 8 cm?

(A) 256 - (B) 512

(C) 1024 () 576

BiharPaper.com

[21 0] Page 10 of 16



45.

46.

47,

48.

49,

| BT Sopeen BiharPaper.com

i‘]‘ﬂ Ul a1y - uﬁ.fﬁ’iﬁ ey e . TR ' 8
A hollow (o T g g, AR R L IR AL

melted iy ¢ °TE of “!tem.q; T @ & UE B Fard 08 ) & - _ i
Ay 1 " come of e l;u:,:d Memal diameters Som and dem pespectively ¥
) 14 ter 3'-‘!“,111:: height of cone tin cm) is -

(B) 13
LS (VI :
Mean Iy Wy g, M) 15
. of hrst l{i even Naty 7 t -

(A 110 "l Numbery -

©) 1y

: (B) 100

dlvwy jtffu# & g W dierneif o (10

(A) Vndfyrs; o e g -

f:].(;-"i ?"ﬂ (a) 1511 ﬂ:l) {IB} &ﬁ;".i*; é "

CLASS < Intervat + ALY TR | .
N NS antervyd jor drawing ogive shoutd FM
'“’"‘““"»‘flﬂpping g ould be - ’
) both (4 & (by BiharPaper.com {1 "}"fﬂﬂl‘l"“!;
un (x), mﬁ}m{}_’ AR« (D) None of these

S§IF () 2 i iy ¢ -

Mean (x), Mediun (%) and Mode () ae re

lted as -
E:: ::}’il(z—y) (B) x~z=3x-y)
0 -:’r-.z-.-} (D) 311~.{}=1_y
TE UM T v 3 goras TR -\ - e B W S R -

Ina simultancous throw of two coins, the probability of getting at east one head is -

(B)

(A)

() (D)

T G4 3 6 T onr 8 Jory iz B ) P
$ FU @ A uiivma & am &7

A bag contains 6 black and 8 white balls, Onc ball is drawn
probability of getting a white ball?

Wi |-
o s N =

te Il WY @ RalE Ty g8 2

A random. What i

. 4
(A) % (B) 3
3 .
(©) ; () 3 BiharPaper.com
[21 0] Page 11 ot 16 [Yurn over
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BiharPaper.com v _g / SEC ION-B

LK u¥ / Non - Ohjective T¥
; 4
R A sy omte e (192 dE=0 ¥T T
xs =20 3m) ¥t gore dr ST &1
In this section you have to answer 15 short answes type questions

4 long answer type questions (4x § marks = 20 marks). F
| g &/
ey #? fmtt 15 701 @
T 1 @ 22 o g gy oET &1 TR W - thase questions

Q. No. - 1 10 22 are Short Answer Type questions. Answers gny.13

uestions

0 Sx2marks = 30marks) and

, [ |
W@ﬁwmﬁnmmammmmw:mm
Use Euclid's division algorithm to find H.CF. of 960 and 332.

2 . 7
ﬁmmﬁ?}m&qﬁhmﬁ #1 Ty waR |ia & a1 YR
” -

Without actually performing the long division. State whether rational number -2; has

# terminating decimal expansion or non-terminating deci mal expinsion.
afs Tgue p(x)=xi+x41 & GEE ¢ qu B &, i o 7 W AT T B
If a and B are zeros of polynomial ph)= x4 x+1, then find o7 +p°.

¥t it g e M Rufd 3 - BiharPaper.com
sﬂ‘f#msﬁ?rhﬂ@ﬂ&ﬁﬂﬁtm?.mﬁrﬂﬁaﬂaﬁesﬁaaﬂ@ﬂaﬁmtdbtl

Form a pair of linear equation for the problem -
S5 pencil and 7 pens together cost 50 ¥, where as 7 pencils and 5 pen together cost

462.
Rz o3 5 V5 o smftha s #)

Prove JS is an irrational number.

789z (x)=x'=px*+qx-r @ @ yoisl o1 s 0 € B W B en WY
(sgae & ot @ d))

Find the condition which must be satisfied by co-cfficient of polvnomials. such that

the sum of two zeros of the polynomial f(x)=x"-px® +qx—r, is zero,

[210] BiharPaper.com  Page 120118



’ &A@ T | E9A 7 fieg g4y, BiharPaper.com » jable 13
The cost of 4 chairs und 3 tables js T 2100, Where as that of 3 chairs and -~
X 1750 Find cost of 3 ¢hair and a table,
g, AWM IR 131823 w3 ur ug I8 &7
/ Which term of the serics 3,8, 13, [8.23....cccven 18 787
9. R aREA £ 9 &

In the given figuse. Find £P

B tem C

Q —
BiharPaper.com 12em

10, aft AABC aen ADEJ @en &, el AB = 1.2 9t ok DE = 14 1, A AABC 37
ADEF & &0d %1 Jquid 3rd 3|
If AABC and ADEF are similar, such that AB =
of arcas of AARC and ADEF-,
1]. U® gu @ Fran 43 0 & SR
& de A ;A Y
The radius of a cirele is 13cm and ke
distance of chord from the center.
12. fd 21 el () mtz'afan;mqan‘amﬂwwm@ﬂ a Prg Y f6 o
ofYar T )
If two chords of a circle are

intersection. prove that chords are cqual.

|.2¢m and DE = 1.4cm. find the o

sad gt (v £ ward w0dR &) EUR S

ngth of one of its chords is 10cm. Find the

equally inclined to the diametcr through their point of

13. afe tanA = %. al sinA.cosA T |
g

If tanA = %. find sinA.cosA
BiharPaper.com
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BiharPaper.com

'4‘ i1 B, i \ 3 2
"% sing +Cos0 = p ¢ 5008 + coserl = g fag ap -1= EE
If & _ : 2
MRl + cocp < P und sccB + cosech = g. then prove that pJ -1= _‘-lp

IS, - L
afe MMA4B) = sinA cosR +cosA sinB &Y sin 78 wH [AEA )

. :: ;:"'I?-I-B]:sim\ COM 4 cnA sinB find sin 75°

ATV ) o (-ng) @ g1y o adl 3T T
. :':‘; ::' destance between CEL3and -5, 7). | |

WA BRI AR o -a) @ (10, y) W A ) 70 10 3w i

< Find value of ¥ such that the distance hetweey points 12, -3) and (10, y) is 10 units.
5 Regelt 6 6) Mt (2 4) i rart ) e g wi Prame T AR

Find the Co-ondinales of midpoing of line, having s extrene ends at (6. 8) and (2. 4.
. @ wrw # e e R (SR T aRaig ad)

Define Mo types of Statistical Data,
0. T g (gug HRW) W Wand () war

Mention two characteristis (features) of Bar Jiagram.
2L SRS R Gy Brivaa g ) wan¥)  BiharPaper.com
Explain “impossible 14 eol” und “Sure Event® in brief.
e A & 'R 99 & qeila 591 ana = foed
/ Give formula for representinyg the happening of an cvent A,
R¥1 wEn 23 #@ 26 @ O T 0v7 21 g v ¥ smaReE Raey &7 vy B
O.No.23 ta 26 are long answer type guestions. Each question has an internal
oplion.
Vb 29 s P g8 o) ok amm iy @ an el 1 afy 33 @ Y w0 B ure
ANG oA A T g P e A 2 ver = §h A ), W= uls # @ 0 1o
A /uver ax AW dr 7w T N wr W 3 TE i 3 T A 20 gy an 2 )
TH @ wear &
A train covered @ certain distance at 0 mniform speed. If the train would have heen
10km/hr faster, it would have taken 2 hours less than the scheduled time, hut if the
train were slower by 10km/hr. it would have tken 3hours more than scheduled time.

Find the distance covered by the train,
'BiharPa per.com
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3. G W iy Juqr_/ OR
By | Hnlpx"‘l)”p-qﬁ'ulqn-py=p+qmﬁxﬁmy$f“¢'ﬂ{3“a
Solve lhe pair of |; BiharPaper.com (2}
Gi) IRCar equationy pPx+(y=p-qandqx - py = p +q for x and ¥-

N - by = (5; Ix -y = |4 & sAfaqa &9
a‘afaquﬂ,nbmm_!ﬁum y=(Sa+2b+ 1) MIx-y=14

Find values of 2 o b Y (a)
- ‘ A for which the system of linear equations has infinite
number of solution (a+byx ¢h the system of lincar ¢q

” ~2by=(Sa+2b+ Dand Ix-y= 14
24. 132 "3 frx § DE || BE oy BV _54 4 (ADEF)

— — R
’ DA 3 & (ABFC) B
In the given figure:
DEIBCand B2 23 pen fing AMADER)
A DA 3 ar{ARFC)

BiharPaper.com

C
J=ar_/ OR
24, AABC 71 3 g1 ofoisil BC. CA @1 AB 71 &= D.E. o F @ vl ovan 8 forg

Ffoo
AF+BD+CE=AFE+CD+BF = :f AARC a1 i)

The in-circle of a triangle ABC touches the sides RC, CA and AB t D, E and F

respectively.

Prove that:

AF + BD + CE= AE+ CD + BF = %t?crium:r of AABC)

25, fag =¥ - '

Prove that -

(i) SinA(l+tanA)+cosA(l+catA)= see A + cosec A (2)
. sinO-cosB+l _ 1 ] (3

(1) <in 04cos0-1 secO—tan® BiharPaper.com
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BiharPaper.com N/ OR
25. o
ma}@;wﬂu@mﬂﬁmﬂﬁwmﬂgmmﬂmﬁﬂﬂﬁmg'

ReTIY Q4 40 trex g7 mam & o1 vy T a0 @ Tma &) A A ST
Wi Y
A mﬁ . . \ -
Person standing on the bank of a river. obscrves that the angle of elevativn of the
top o vk . .
OP Of a tree, Slanding on apposite bunk is 60°. When he moves 40m awity from the
bank, he finde )
’e ¢ finds the angle of elevation 10 be 30°, Find the Widih of the river.
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CUNVUSS of a circus has height 11dm (decimetre) in cylindrical section ind above
it, N 4 Cosminand o1 . . .
there is o conical shape, The inaximum hetght of canvass is 16 decimetre and the
diameter of canvass is 24 decimetre. Evaluate the total arca of the canvass.
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The radius and height of a cone are in the ratio 4:3, The area of base is 154 e, Find
the area of curved surface.
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